
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/JUN 10/1 

Pumps
Aussie AUSSIE spares diagram & parts list 

All prices include GST 

AUSSIE GMP PUMPS:  

Part  
Number Qty Description 

Retail 
price 

5053 1 Sleeve G 1005/1  $24 
5294 2 Washer 12x26x2  $4 
5336 1 Oil Seal 40x62x10  $14 
5393 1 Rubber Gasket B 3207  $17 
5442 1 S/Steel OEB Screw M6x15  $5 
5453 1 Valve Gasket B 3206  $83 
5455 1 Greaser G 1/8”  $7 
6030 1 Flex. Gasket B 2587  $12 
6052 1 OR 133 (24.99x3.53)  $13 
6060 1 OR 4625 (158.3x3,.53)  $5 
6173 1 Washer 10x30x6  $7 
6184 1 Flex. Washer 41x50x2  $7 
6197 2 Snap Ring E 25  $2 
6199 1 Snap Ring I 62  $5 
6238 1 Screw T.E. M10x20 SX  $7 
6316 1 Bearing 3305  $182 
6321 1 Bearing 6205-2RS  $61 
6326 1 Key B 6x6x25  $6 
6339 1 Mech. Seal 25-47-14  $43 
7857 8 OR 2021 (5.28x1.78)  $2 

B4KQ-A/B “w” with or without pulley 
cat ASC6 

Part  
Number Qty Description 

Retail 
price 

8436 1 Counterface 26-57-7  $127 
9065 1 Counterweight  $47 
F135  1 Conical Tap ¼” Gas  $22 
F158  4 Stainless Steel Screw M12x25  $11 
F159  8 Washer  $6 
F476  1 Nut M12x1.75  $14 
F550  1 Shaft Stainless Steel AISI 316  $595 
F712  1 Pump Casing B4KQ-A/B  $5,320 
F715  1 Valve Body B4KQ-A  $1,034 
F717  1 Bronze Flange B4KQ-A  $580 
F739  1 Steel Nut M6x1  $7 
F778  1 Stainless Steel Washer AISI 316  $89 
F818  8 OEB Screw M5x10 Steel  $2 
F847  11 Stainless Steel Screw M10x30  $10 
F849  1 Tap 1¼” AISI 316  $19 
F850  1 Key B 6x6x15 AISI 316  $7 
F851  1 Support  $1,121 
F864  1 Impeller B4KQ-A/B  $887 
F894  1 Stainless Steel Disc  $168 


